StarTechy

Hard-to-find made easy®

Dual-Monitor Wall Mount

ARMDUALWALL

*actual product may vary from photos

FR: Guide de I'utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuério - pt.startech.com

IT: Guida per I'uso - it.startech.com

For the latest informati nical specifications, and support for

this product, please v com/ARMDUALWALL.

Manual Revision: 12/04/2018


http://www.startech.com/ARMDUALWALL

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

PHILLIPS® is a registered trademark of Phillips Screw Company in the United States or other
countries.

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

Hard-to-find made easy

Instruction manual



Warning statements

Mensagens de aviso

< .
Read
assemble and use this product. Lela ea
utizar este produto
product.
Jury Thi 11b) per
monitor mount,
/he 3 the screws. " dutc
are ghtening the screws, sop ightening. aperta os parafusos, pare de apertar
mounting - 3
supporting d
at least four times the weight of the mounted equipment.
The mounting res 1t Ohardware de montag piy
al estdaus
foryour wal tructure. pa
Warnhinweise
Dichiarazioni di avvertenza
Bevor ik d blare i}
Leggere
Uberschreiten e icht die Produk Ein e Produkts ki &3 utiizzare questo prodatto
geeignet: 5 kg per monitor. dotte
lesioni. I prodotto i grado disupportare | sequenti pes: 5 kg per monitor.
pbald
hen der Schrauben auf Widerstand stoBen, stellen Sie das Anzieh .
sttingono le Vi, intertompere Foperazione.
Faind Andernial 8 u
jierf: Lastr
Wenn lhnen Gellapparecchiatura montata.
u
fr hve Wand ertefe. murare.
istruzioni i montaggio per lastruttura muraria n uso.
Waarschuwingen
Zorg dat u dit product volgens de instructies in elkaar zet. ;.
< o “ Advertencias de uso
zet en gebruikt
Kan letsel of Lea
L
zeu Al idens
causar
het vastcrasien van de schroever, top dan. uarlesiones personales
o < 03p foste
2in L " por certeza el tipo
o a utiizar para 0po
u gebruikte equipo. L
ctuur
9 B
de pared.
Varningsmeddelanden "
produkten. Avertissements
a
.
b
dusiuta skruva it
ierar ar. Is. Ce “ecran.
‘minst fyra ganger
Vikten av den monterade utrustningen serrage des vis cessez de serrer.
plig om quele typ etle matériel de

dusakn

monteringsinstruktioner for din vaggstruktur.

EE
BRI TARBORS L TR TTEL

BYCRRHAEE BT OB ARBOBHIT THE TN TERLTHSEH I TS
BT REL,

WESIELTFR Fetgh,
ERETRAN D BIRACEN BT, SUE = aa%swsmzriﬁ‘z*&t
FUREEHLTE! EBHTEEVEIICLTFEN RVERHTVBIBICFHAEEL
oD R ADEILH CTE L
ETommEnIcL T
=

3’6{
W R

AT
tz%z

57, REOIES@RY 50128 rEE s SumEHol
FEEL, TRBNPRIMGADTEN DS
RO

%
EELUET,

Instruction manual

tériel.La structure du mur doit pouvor supporter au
moins quatre fois le poids de lquipement monte.

murs, ller e produt au tacte

spécifiques 5 votre structure de mur.

StarTechg-0m

Hard-to-find made easy



Table of Contents

Warnings i
Product diagram 1
Product dimensions 1
Technical specifications 2
Package contents 3
Requirements 6
Installation 7

Attach the wall plate to the wall 7

Attach the mounting arms 9

Attach the crossbar 12

Mount the monitors 14

Attach the VESA monitor mounts to the crossbar 15

Adjust the ARMDUALWALL 16

Organize your cables 17
Technical support 18
Warranty information 18

~
Instruction manual StarTeCh.'Om

ii Hard-to-find made easy



Product diagram

VESA monitor mount VESA monitor mount
Crossbar

Wall plate ———

Mounting arm
[ Cable-management clip

Mounting arm

Product dimensions

183.5 mm

StarTechy.0m

Instruction manual
1 Hard-to-find made easy



Technical specifications

Type of measurement : Measurement

75x75
100x100

VESA

B 5kg (11 Ib.) per monitor mount

RATED LOAD

& -

ROTATION :

Between 381 mm and 610 mm
(15in.and 24in.)

SCREEN

::], : 180°

SWIVEL

Instruction manual Sta rTeCh.Com

2 Hard-to-find made easy



Package contents

=

Plastic covers

Mounting arms VESA monitor mounts

Crossbar Crossbar cap
Qty: One Qty: One
~
Instruction manual StarTeCh.,Om

3 Hard-to-find made easy



”'llllml

M4x12 mm screws
Qty: Eight

Spacers
Qty: Eigh

(llllllllllll!llllllll

M4x30 mm screws
Qty: Eight

Hex key
Qty: One

Instruction manual

Cable-management clips

Mounting-arm retainer
Qty: One

StarTechy.0m

Hard-to-find made easy



M8x16 mm screws Mounting-arm washers
Qty: Three Qty: Three

Mounting-arm caps Wall-plate retainer

<@
] ; @
= § @

Level M8x60 mm screws
Qty: One Qty: Four

StarTechy.0m

5 Hard-to-find made easy

Instruction manual



R

Concrete anchors Washers
Qty: Four Qty: Four
D

Dual-Monitor Wall Mount

e

Instruction manual
Qty: One

Crossbar retainer
Qty: One

Requirements

« Two monitors that are compatible with one of the VESA mounting hole patterns
that ARMDUALWALL supports

A Phillips type screwdriver

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/ARMDUALWALL.

StarTechy.0m

6 Hard-to-find made easy

Instruction manual


http://www.startech.com/ARMDUALWALL

Installation

Warning! Make sure that the weight of the monitors doesn’t exceed the weight
capacity of this product. If you exceed the weight capacity, you might experience
personal injury or damage to the product. This product can support up to 5 kg (11 Ib.)
per monitor mount.

Attach the wall plate to the wall

Warning! Wall structures vary, and it is important to make sure that the type of
structure and mounting hardware that you are using will properly support the
mounted equipment. Failure to do so may result in personal injury and/or equipment
damage. The wall should be capable of supporting at least four times the weight of the
mounted equipment.

Warning! The mounting hardware included with this product might not be adequate
for some wall structures. If you lack the necessary expertise to attach this product

to the wall that you are using, contact a construction professional to install the
ARMDUALWALL or to provide specific mounting instructions for your wall.

Note: It may require two people to attach the wall plate to the wall.

1. Position the wall plate where you want to hang the ARMDUALWALL and use the
provided level to make sure that the wall plate is vertical. (figure 1)

figure 1

Level

o1

Wall plate ————

StarTechy.0m

7 Hard-to-find made easy

Instruction manual



3. Use the four holes in the wall plate as a template to mark the wall.

4. Follow the appropriate steps for the type of wall that you're attaching the wall plate
to and attach the wall plate to the wall. (figure 2)

figure 2

Wall plate——+——=

5. Slide the plastic covers over the ends of the wall plate. (figure 3)

figure 3

Wt~
@ o——Plastic cover

StarTechy.0m

8 Hard-to-find made easy

Instruction manual



Attach the mounting arms
1. Place one of the mounting arms over the projection on the wall plate. (figure 4)

figure 4 Mounting arm

Wall plate ——

2. Place a mounting-arm washer into the joint in the mounting arm.
3. Place the wall-plate retainer onto the mounting-arm washer.

4. Insert an M8x16 mm screw through the wall-plate retainer, mounting-arm washer,
and into the mounting arm. (figure 5)

5. Use a Phillips type screwdriver to tighten the screw into place.

Warning! Do not over-tighten the screw. If you encounter resistance while you're
tightening the screw, stop tightening.

ﬁO—M8x16 mm screw /
®

Wall-plate retainer———e<=
&e———Mounting-arm washer

figure 5

Wall plate ——

StarTechy.0m

9 Hard-to-find made easy

Instruction manual



6. Snap one of the mounting-arm caps over the joint in the mounting arm. (figure 6)

figure 6

do— Mounting-arm cap

Wall plate ———

7. Place the second mounting arm over the projection in the other mounting arm.

(figure 7)
o———Mounting arm
Projecti<.

figure 7
P .
g’! +———Mounting arm
/

StarTechy.0m

10 Hard-to-find made easy

Instruction manual



8. Place a mounting-arm washer into the joint in the mounting arm.
9. Place the mounting-arm retainer over the mounting-arm washer.

10. Insert an M8x16 mm screw through the mounting-arm retainer, mounting-arm
washer, and into the mounting arm. (figure 8)

11. Use a Phillips type screwdriver to tighten the screw into place.
Warning! Do not over-tighten the screw. If you encounter resistance while you're

tightening the screw, stop tightening.
é/ea

figure 8

ﬁo— M8x16 mm screw

Mounting-arm retainer ———e &>
Mounting-arm washer ——e (&>

12. Snap the other mounting-arm cap over the joint in the mounting arm. (figure 9)

figure 9
ﬁ.— Mounting-arm cap
Mounting arm
(o
Instruction manual StafTeCI".,Om

11 Hard-to-find made easy



Attach the crossbar
1. Place the crossbar over the projection on the mounting arm. (figure 10)
figure 10

Pl —r
=

Crossbar

2. Place the crossbar retainer into the crossbar.
3. Place a mounting-arm washer onto the crossbar retainer.

4. Insert an M8x16 mm screw through the washer, crossbar retainer, and into the
crossbar. (figure 17)

5. Use a Phillips type screwdriver to tighten the screw into place.

Warning! Do not over-tighten the screw. If you encounter resistance while you're
tightening the screw, stop tightening.

figure 11
ﬁO— M8x16 mm screw

Mounting-arm washer ———e &
$0—Crossbar retainer

li
]

g3

Crossbar

Instruction manual | StarTeCh.Com

12 Hard-to-find made easy



4. Snap the crossbar cap into the crossbar. (figure 12)
figure 12

8 o——— Crossbar cap

Crossbar

StarTechy.0m

13 Hard-to-find made easy



Mount the monitors

To accommodate different monitor designs, the ARMDUALWALL comes with two sets
of screws of different lengths and diameters, and spacers.

5.

. To select the combination of mounting hardware to attach the VESA monitor
mounts to the monitors, complete the following:

« Determine the depth of the mounting holes on the monitor.
« Determine the diameter of the mounting holes on the monitor.
. If necessary, place the spacers over the mounting holes on the back of the monitor.

. Line up the VESA monitor mount with the spacers or the mounting holes on the
back of the monitor.

. Insert the M4x12 mm screws or the M4x30 mm screws through the VESA monitor
mount, the spacers, and into the back of the monitor. (figure 13)

Use a Phillips type screwdriver to tighten the screws.

Warning! Do not over-tighten the screws. If you encounter resistance while you're

ti

ghtening the screws, stop tightening. Failure to do so could result in damage to the

monitor.

6

In

. Complete steps 1 to 5 to attach the second monitor.

figure 13

Top of monitor \V4 i% X% @-

/ VESA monitor mount A

—@e—— M4x12 mm screw
OR
M4x30 mm screw

000000000008y

- StarfTechy:0m

14 Hard-to-find made easy

struction manual



Attach the VESA monitor mounts to the crossbar

Warning! Make sure that the weight of the monitors doesn’'t exceed the weight
capacity of this product. If you exceed the weight capacity, you might experience
personal injury or damage to the product. This product can support up to 5 kg (11 Ib.)
per monitor mount.

1. Carefully slide one of the VESA monitor mounts and monitors into a mount holder
on the crossbar. (figure 14)

Note: If you encounter resistance as you slide the VESA monitor mount into a mount
holder, remove the VESA monitor mount from the mount holder and look to see if
either of the screws in the sides of the monitor holders are in the way. If they are, use a
Phillips type screwdriver to retract the screws in the sides of the mount holder on the
crossbar. (figure 15)

figure 14

VESA monitor mount

Mount holder

2. Repeat step 1 to attach the second VESA monitor mount and monitor.

3. Use a Phillips type screwdriver to tighten the screws in each of the the mount
holders. (figure 15)

figure 15

Mount holder

N .
= Screwdriver
»*

StarTechy.0m

15 Hard-to-find made easy

Instruction manual



Adjust the ARMDUALWALL

1. To adjust the position of your monitors, do any of the following:

« To move the monitors up or down in small increments, turn the knobs at the
top of each of the VESA monitor mounts. (figure 16)

« To lock the mounting arms in place, use the hex key to turn the screw in each
of the mounting arms clockwise. (figure 17)

« Toincrease or decrease the swivel tension, use the hex key to turn the screw in
each of the mounting arms clockwise or counterclockwise. (figure 17)

figure 16 Knob
figure 17
S~ Hex key
~
Instruction manual StarTeCh.,Om

16 Hard-to-find made easy



Organize your cables

1. Attach the cable-management clips to the crossbar.
2. Route the cables along the crossbar.

3. Snap the cables into the cable-management clips. (figure 18)

figure 18

Cable-management clip

Instruction manual

StarTechy.0m

Hard-to-find made easy



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

StarTechy.0m

18 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



